gtws& \ - A—m(j\c Castas

LCMO - Mot 4 CEQUILBMENT
Eoidemn wa,\/ . MarrimodT cal @}}’/M(‘\““’\’>

DU’ [ et A,@,c Le fo‘?/\('x 1 *O‘Qf\.w\_e

( ’(,/ Decamws orokel Oef- rodlv e
Cf\ ) CU\/M 0\"!/ B OV\-A Su/(’ 0>€.
g A A > 4§ inlewseds oy (BAS A

T AL ond mkcz

Yhen LABC = @;H,/Lémmm@.

O“;‘M/ e a,\w&'xg /G&T"\Nﬁ

(u_ai; o

— —[M < WL @( avx.fjl,f/b n Op‘L\f‘TW\-D\C 2 ({(X‘O

T R N ()
— A—/?L% - L@%’%A ®
o L2
m\
%40 <=60° L*&C*LC&Q

(% 50 + A8



Example 1.1. In quadrilateral W XY Z with perpendicular diagonals (as in Figure 1.1A),
we are given ZWZX = 30°, L_XWY =40° and LZWYZ = 50°.

(a) Compute /Z. = 20°
(b) Compute £X. , WK~ co’

s, 2%Y = x
L2 Y =60
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Figure 1.1B. The inscribed angle theorem.
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Problem 1.7. Let O and H denote the circumcenter and orthocenter of an acute AABC
respectively, as in Figure 1.1D. Show that /BAH = ZC AQO. Hints: 540 373
~H, J6&

gz ZO’INWTOV
~ K

Octino "H
Cirean O CAYLY = ap® =Nce /17]
Cerviye & LT one

| XY 18
Samers L A = (9O




In AABC, let D, E, F denote the feet of the altitudes from A, B, and C. The ADEF is
called the orthic triangle of AABC. This is illustrated in Figure 1.3A.
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Figure 1.3A. The o

ic triangle.

It also turns out that lines AD, BE, and C F all pass through a common point H, which
is called the orthocenter of /. We will show the orthocenter exists in Chapter 3.



Figure 1.3A. The orthic triangle.

Example 1.13. Prove that H is the incenter of ADEF.
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Figure 1.3B. Reflecting the orthocenter. See Lemma 1.17.

% Lemma 1.17 (Reflecting the Orthocenter). Let H be the orthocenter of AABC, as in
Figure 1.3B. Let X be the reflection of H over BC and Y the reflection over the midpoint
of BC.

(a) Show that X lies on (ABC).
(b) Show that AY is a diameter of (ABC). Hint: 674





